Gautam Thakkar Memorial Badminton Association

To The Hon.Secretaries Affiliated Units of <u>Badminton Association of India</u>

October 22, 2012

<u>Sub:</u> Gautam Thakkar Memorial Junior Masters Invitational Prize Money Badminton <u>Tournament to be organized from 22nd to 25th November 2012 at the Bombay</u> <u>Gymkhana.</u>

Dear Sir,

The "Gautam Thakkar Memorial Badminton Association" will be organizing the above mentioned tournament at the Bombay Gymkhana, Mumbai. This tournament has been sanctioned by the Badminton Association of India.

This tournament will be played on a League cum Knock out basis and the Eligibility & Rules for the same are attached herewith.

Kindly arrange to confirm the entries of the Eligible players (as per the BAI ranking list updated as of 1st Oct, 2012) from your State to Mr.S.A.Shetty - Hon.Secretary, Maharashtra Badminton Association on or before 10th November 2012, which is the last date of entries.

1) Mr. S.A.Shetty (Hon. Sec., MBA) Mobile No.: 09821162286 Email : <u>sashetty1@rediffmail.com</u>

For the Gautam Thakkar Memorial All India Junior Masters Prize Money Badminton Tournament, please note that the names and contact details of key officials is as follows: Organizing Secretary: Shirish Nadkarni, Mobile: (91) 9920025000; email: shinads@yahoo.co.uk

Since I will be out of Mumbai from November 14 to 19, players, parents and tournament officials may kindly contact Yazdi Marolia, Mobile: (91) 9819652747; email: <u>phirozeandson@hotmail.com</u>, during those six days that I will not be available.

So far as the hotel for players and their relatives is concerned, we have booked the West End Hotel (a three-star property), 45, New Marine Lines, Next to Bombay Hospital, Mumbai 400020, as the official hotel for the tournament. The hotel is a one-kilometre (10-12 minutes) walking distance from the Bombay Gymkhana, but we are also making arrangements to transport the players to and from the hotel during most of the day, with a Toyota Qualis running between the hotel and venue at half-hour intervals.

We have obtained special hotel rates for the players for the course of the tournament -- Rs 1,650/- per player per day for five nights -- in on 21st Nov, out on 26th Nov.

The Gautam Thakkar Memorial Badminton Association will bear Rs 850/- of this cost (as was done last year), and recover from the players Rs 800/- per day of stay at the time they register on the first day of the tournament. Parents, however, will have to bear the full cost of Rs 1,650/- per person per day.

Gautam Thakkar Memorial Badminton Association

...2...

We have booked 10 family suites, in which four persons of the same gender will be accommodated. The suites have two rooms, and are large and spacious, so there will not be any crowding. We have also booked 10 double rooms, in which three people can be accommodated. The cost per person will remain the same. Booking requests must be received by November 10, at the latest; we cannot make arrangements for last-minute requests.

The Bombay Gymkhana is situated next to the Azad maidan and between the Chhatrapati Shivaji Terminus and the Churchgate railway station.

I look forward to your co-operation for our tournament.

Thanking you. Yours Sincerely, Sd-Shirish Nadkarni Organizing Secretary

Encl: Tournament Format / Prize Money Structure/List-Eligible Players

FORMAT OF THE TOURNAMENT

Number of Events:

U 17 Girls & Boys – Singles & Doubles

U 19 Girls & Boys – Singles & Doubles

- Each player will be allowed to participate in only two events singles or doubles in case he/she is eligible to play in more than two events (as per National Ranking).
- BAI will also announce a reserve list in each category to ensure that incase of any withdrawals, a replacement will be announced on time to enable him / her to reach the venue on time.
- Players will confirm their participation two weeks prior to the event, i.e. on the 10th November, 2012.
- Rankings as on 1st October 2012 will be considered for the tournament.

Singles:

• The top 11 Singles players + 1 wild card entry in each category according to National Ranking in U17 & U19 age groups as on 1st October 2012 will be eligible to participate in the tournament.

In the Singles event, there will be four groups of three players each and the top two players in each group will qualify for the knock out stage - from quarter final onwards.

• Doubles:

The top 6 pairs in each category in the National Rankings in U 17 & U19 age group as on 1st October 2012 will be eligible to participate in the tournament.

There will be two groups of three pairs each and the two pairs in each group will qualify for the knock out semi final stage.

- <u>BWF Rules pertaining to walk overs/retirements/withdrawals.</u>
- In case, of a three way tie, the number of games won and lost in the group matches will decide the top two players / pairs.
- In case they are still tied, then the number of points won and lost will be taken into consideration.
- In case of a two way tie, the player / pair who has won against the other tied player / pair, will qualify.
- In case the players / pairs are tied after taking into account the number of matches, games & points played and lost, then the qualifiers will be decided on drawing lots as prescribed by the BWF.
- If illness, injury, disqualification or any other hindrance prevents a player/pair from completing all pool matches, then all the results of the player/pair shall be deleted. Retiring from the match shall be considered to be not completing all pool matches.
- A player/pair is entitled to prize money according to the results actually obtained before any withdrawal due to injury.

Distribution of Prize Money – Group stage:

<u>U 17 Singles (Girls & Boys)</u> Rs 2,000/- for the last in each group (4 + 4=8 X 2000=16,000/-)

<u>U 17 Doubles (Girls & Boys)</u> Rs 4,000/- for the last pair in each group (2 +2=4 X 4000=16,000/-)

<u>U 19 Singles (Girls & Boys)</u> Rs 4,000/- for the last in each group (4 + 4=8X4000=32,000/-)

<u>U 19 Doubles (Girls & Boys)</u> Rs 6000/- for the last pair in each group(2 + 2=4X6000= 24,000/-)

<u>Total = Rs 88,000/-</u>

Distribution of Prize Money – Knock out stage:

<u>U 17 Singles (Girls & Boys)</u> Losing Quarter finalist: Rs 4000/- each X 8 = 32,000/-

Losing Semi finalist: Rs 8,000/- each X 4 = 32,000/-

> Runner up: 20,000/- X 2 = 40,000/-

Winner Rs 40,000 X2 = 80,000/-

<u>Total = 1,84,000/-</u>

U 17 Doubles (Girls & Boys)

Semi finalists: 10,000 each pair X 4 = 40,000/-

Runner up: 24,000/- each pair X 2 = 48,000/-

Winner: 45,000/- each pair X 2 = 90,000/-

<u>Total = 1,80,000/-</u>

Distribution of Prize Money – Knock out stage:

U 19 Singles (Girls & Boys)

Losing Quarter finalist: 7000/- each X 8 = 56,000/-

Losing Semifinalist: 13,000/- each X 4 = 52,000

Runner up: Rs 30,000/- each X 2 = 60,000/-

Winner: 60,000/- each X 2 = 1,20,000/-

<u>Total = 2,92,000/-</u>

U 19 Doubles (Girls & Boys)

Semi finalist:

15,000/- each pair X 4 = 60,000/-

Runner up: 34,000/- each pair X 2 = 68,000/-

Winner: 65,000/- each pair X 2 + 1,30,000/-

Total: 2,60,000/-

LIST OF ELIGIBLE PLAYERS AS PER BAI RANKING OF 1st OCTOBER 2012

Ranking	Family	Given Name	State	Player	Date of Birth	No of T'mnts	Rankin						
Today	Name			ID		played	g						
							points						
	JUNIOR BOYS' U17 SINGLES												
1	Dani	Harsheel	Al	2797	8/12/1996	4	1,301						
2	Joshi	Aditya	Al	2537	8/7/1996	4	1,232						
3	Naqvi	Arshalan	UP	2761	11/17/1996	4	909						
4	S.	Daniel Farid	KTK	3217	1/20/1997	4	796						
5	Dharmamer	Kaushal	MAH	3477	2/1/1996	5	730						
6	Laa	Talar	ANP	2681	4/5/1997	4	676						
6	С.	Rahul Yadav	AP	1461	5/3/1998	5	676						
7	Shukla	Sanyam	CG	2892	4/19/1996	5	631						
8	Aggarwal	Harshit	KTK	3215	8/9/1996	5	593						
9	Ghosh	Shouvik	WB	2510	1/31/1996	4	556						
10	K. P.	Chaitanya	AP	2383	8/1/1996	5	369						
10	Sahdev	Rishabh	DLI	3581	8/3/1996	5	369						
11	Kushwaha	Ravi	MP	6440	4/14/1996	4	335						
12	Sharma	Sumit	PNB	3241	9/10/1996	4	332						
13	٧.	Gangadhara	AP	2917	7/30/1996	4	305						
		Rao											
14	Sipani	Sahil	KTK	2409	8/20/1997	5	271						
15	A. S. S.	Siril Varma	AP	3106	12/25/1999	2	267						
16	Shubham	Kumar	BHR	4035	1/10/1998	3	259						

	JUNIOR BOYS' U17 DOUBLES										
1	K. P.	Chaitanya	AP	2383	8/1/1996	5	590				
2	V.Gangadhara	Rao	AP	2917	7/30/1996	5	583				
2	Shukla	Sanyam	CG	2892	4/19/1996	4	583				
3	Devlekar	Vighnesh	MAH	3981	9/17/1996	4	560				
3	Dharmamer	Kaushal	MAH	3477	2/1/1996	4	560				
4	M. R.	Arjun	KER	3204	5/11/1997	3	477				
4	Shetty	Chirag	MAH	3476	7/4/1997	3	477				
5	Laa	Talar	ANP	2681	4/5/1997	4	433				
6	Sen	Chirag	UTR	2304	7/22/1998	5	350				
7	Dani	Harsheel	Al	2797	8/12/1996	3	349				
7	Joshi	Aditya	Al	2537	8/7/1996	3	349				
8	Chhikara	Ankit	CHG	2894	8/5/1996	5	342				

LIST OF ELIGIBLE PLAYERS AS PER BAI RANKING OF 1st OCTOBER 2012

Ranking	Family	Given Name	State	Player	Date of Birth	No of T'mnts	Rankin					
Today	Name			ID		played	g					
							points					
	JUNIOR GIRLS' U17 SINGLES											
1	Karthik	Reshma	KTK	2828	9/16/1996	5	1,345					
2	Das	Rituparna	WB	2885	2/10/1996	3	1,163					
3	G.	Ruthvika	AP	1756	3/26/1997	3	878					
		Shivani										
4	Wadkar	Karishma	MAH	3221	2/12/1997	4	856					
5	К.	Vijetha	AP	1781	1/19/1997	4	827					
6	Pardeshi	Shriyanshi	MP	2418	5/4/1998	4	790					
7	٧.	Harika	AP	2938	9/11/1998	5	654					
8	Das	Anuriya	WB	3276	10/2/1996	5	593					
8	D. Sudha	Kalyani	AP	2884	8/2/1996	5	593					
9	Devasthale	Revati	MAH	4810	10/23/1996	4	541					
10	Syed	Arsheen	KTK	4609	4/29/1996	4	519					
	Saadath											
11	J.K.	Malvika	KER	3197	7/18/1997	3	501					
12	Santosh	Sanjana	MAH	3222	3/2/1997	4	474					
13	Μ.	Pooja	AP	3097	9/23/1996	4	437					
14	Kailash	-	CHG	6120	11/2/1997	4	414					
15	Aggarwal	Mahima	KTK	3208	11/11/1998	4	351					
16	K.Sri Krishna	Priya	AP	3658	10/28/1997	4	339					

	JUNIOR GIRLS' U17 DOUBLES									
1	D.	Sudha	AP	2884	8/2/1996	5	531			
		Kalyani								
2	K. P.	Sruthi	KER	3198	7/9/1996	4	455			
2	Mather	Farha	KER	3829	9/17/1996	4	455			
3	Wadkar	Karishma	MAH	3221	2/12/1997	4	447			
4	Santosh	Sanjana	MAH	3222	3/2/1997	3	443			
5	Parikh	Anoushka	GUJ	3166	3/26/1997	4	406			
6	٧.	Harika	AP	2938	9/11/1998	5	380			
6	Garg	Kuhoo	UTR	2989	9/22/1998	4	380			
7	Katre	Lalita	MAH	3484	2/12/1997	3	379			
8		Kailash	CHG	6120	11/2/1997	4	353			
8	Sohi	Muskan	CHG	2985	10/13/1997	4	353			
9	G.Ruthvika	Shivani	AP	1756	3/26/1997	1	350			

Summary

Ranking	Family Name	Given Name	State	Player	Date of	No of T'mnts	Ranking
Today				ID	Birth	played	points
	JUNIOR BOYS' U19	SINGLES					
1	C.	Rohit Yadav	AP	2405	12/8/1995	3	945
2	Yeligar	Abhishek	KTK	3212		3	757
3	Joshi	Aditya	AI	2537	8/7/1996	3	735
4	Verma	Sameer	MP	1999	10/22/1994	2	700
5	Joshi	Pratul	AI	1995	11/27/1994	3	697
6	Jaiswal	Shreyansh	CG	2992	10/27/1995	4	660
7	Dani	Harsheel	AI	2797	8/12/1996	3	656
8	Jaiswal	Devansh Kumar	CG	3143	2/1/1994	4	614
9	G.	Gopi Raju	AP	2207	8/27/1994	3	546
10	Nag	Trinankur	WB	2077	8/12/1994	4	456
11	George	Arun	KER	2469	11/8/1995	4	434
12	Laa	Talar	ANP	2681	4/5/1997	3	397
13	Dharmamer	Kaushal	MAH	3477	2/1/1996	4	396
14	Medsikar	Sudhanshu	MAH	2333	3/24/1995	4	382
14	Naqvi	Arshalan	UP	2761	11/17/1996	3	382
15	Yadav	Ansal	UP	3272	7/23/1997	2	327

	JUNIOR BOYS' U19 DOUBLES						
1	T.	Hemanagendra Babu	AP	2924	7/6/1996	3	600
2	G.	Gopi Raju	AP	2207	8/27/1994	3	529
3	Ravuri	Santosh	AP	2370	7/7/1995	3	401
4	S.	Pranav	KER	3809	4/8/1994	3	386
5	B.	Venkatesh	AP	2208	8/5/1994	3	382
6	Prasad	Shyam	KER	2868	4/30/1995	3	368
6	Ramchandran	Shlokh	MAH	2872	3/10/1995	3	368
7	K.	Sriteja	AP	2329	11/16/1994	4	360
8	Jaiswal	Devansh Kumar	CG	3143	2/1/1994	4	349
8	Jaiswal	Shreyansh	CG	2992	10/27/1995	4	349
9	Raphel	Sharon	KER	3207	1/5/1994	3	345
10	K.	Chaitanya Reddy	AP	2382	8/15/1995	4	273

	JUNIOR GIRLS'	U19 SINGLES					
1	Sunil	Arathi Sara	AI	2792	10/1/1994	3	878
2	Pillai	Riya	MAH	2415	10/10/1994	3	697
3	G.	Vrushali	AP	3732	2/3/1998	3	622
3	Naqvi	Sara	UP	2301	12/15/1995	4	622
4	Katre	Lalita	MAH	3484	2/12/1997	3	569
5	Das	Rituparna	WB	2885	2/10/1996	2	545
6	Raje	Rasika	MAH	3534	9/27/1995	4	517
7	Karthik	Reshma	KTK	2828	9/16/1996	4	509
8	Wadkar	Karishma	MAH	3221	2/12/1997	3	498
9	D.	Sudha Kalyani	AP	2884	8/2/1996	4	441
10	Thakur	Arjoo	HP	1933	5/15/1994	4	419
11	G.	Ruthvika Shivani	AP	1756	3/26/1997	2	409
12	Mundada	Shruti	MAH	5058	3/14/1994	3	367
13	S. R.	Poorvisha	KTK	2883	1/24/1995	2	364
14	Pardeshi	Shriyanshi	MP	2418	5/4/1998	3	359
15	Santhilal	Sneha	KER	3201	6/3/1994	3	351

	JUNIOR GIRLS' U19 DOUBLES						
1	J.	Meghana	AP	2464	12/28/1995	3	473
2	K.	Maneesha	AP	2408		2	404
3	Santhilal	Sneha	KER	3201	6/3/1994	3	386
4	Katre	Lalita	MAH	3484	2/12/1997	3	382
4	Wadkar	Karishma	MAH	3221	2/12/1997	3	382
5	G.	Ruthvika Shivani	AP	1756	3/26/1997	2	370
5	S. R.	Poorvisha	KTK	2883	1/24/1995	2	370
6	K. P.	Sruthi	KER	3198	7/9/1996	4	368
6	Mather	Farha	KER	3829	9/17/1996	4	368
7	Sunil	Arathi Sara	AI	2792	10/1/1994	1	350
8	Anto	Agna	KER	5641	3/28/1995	4	349
8	M. H.	Haritha	KER	3199	1/29/1995	4	349